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PAPER – II 

COMMERCE 

Note : Attempt all the questions. Each question carries two (2) marks.  

SÔ¨¦ : GÀ»õ ÂÚõUPÐUS® Âøh¯ÎUPÄ®. JÆöÁõßÔØS® Cμsk (2) ©v¨ö£sPÒ.  

1. Which of the following is a WTO procedure to promote globalization? 
1) Promotion of free trade 
2) Reduction of budgetary subsidies 
3) Reduction in shipping charges  
4) Promotion of foreign portfolio investment 

cyf th;j;jf epWtdj;jpd; %yk; cyfkakhf;fy; Cf;Ftpf;f ifahz;l 
nray;Kiwfs; 

1) th;j;jfj;ij Cf;Ftpj;jy; 
2) gl;n[l; khdpaj;jpw;fhd Fiwg;G 
3) fg;gy; fl;lzk; Fiwg;G 
4) ntspehl;L Nghh;l;/NghypNah KjyPL cah;T 

2. Which of the following is not the main objective of “fiscal policy of India”? 
1) To increase liquidity in economy 
2) To promote price stability 
3) To minimize the in-equality in income and wealth 
4) To promote employment opportunities 

gpd;tUk; vJ “,e;jpahtpd; epjpf; nfhs;iapd; Kf;fpa Nehf;fk; ,y;iy”? 

1) nghUshjhuj;jpy; gzg;Gof;fk; mjpfhpg;gJ 
2) tpiy epiyj;jd;ik cah;j;JtJ 
3) tUkhdj;jpYk; nry;tj;jpYk; rkj;Jtkpd;ikiaf; Fiwg;gJ 
4) Ntiy tha;g;Gfis mjpfup;g;gJ 

3. The low income economies are sometimes referred to as 
1) First World  2) Second World 
3) Third World  4) Fourth World  

Fiwe;j tUkhdk; nghUshjhuq;fs; rpy Neuq;fspy; ––––––––– vd 
Fwpg;gplg;gLfpwJ 

1) Kjy; cyfk; 2) ,uz;L cyfk; 
3) %d;whk; cyfk; 4) ehd;fhk; cyfk; 
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4. Which policy is concerned with raising revenue through taxation and deciding on the level and 
pattern of expenditure? 
1) Monetary policy 2) Fiscal Policy 

3) Trade Policy  4) Foreign exchange policy 

ve;jf; nfhs;ifia thptpjpg;G %yk; tUtha; mjpfhpj;J nrytpdq;fspd; juk; 

kw;Wk; Kiw jPh;khdpf;Fk; 

1) ehza nfhs;if 2) epjp nfhs;if 

3) th;j;jf nfhs;if 4) me;epa nryhtzp nfhs;if 

5. An expert committee headed by S.V.S. Raghavan was appointed to implement the proposed Indian 

competition Law while repealing   

1) The monopolies and restrictive Trade Practices Act 

2) Sale of Goods Act 

3) Consumer Protection Act  

4) Competition Act 

S.V.S. uhftd; jiyikapy; xU epGzh; FO fPNo ,e;jpa Nghl;b rl;lk; 

nray;gLj;j epakpf;fg;gl;lJ 

1) VfNghfk; kw;Wk; fl;Lg;gLj;jg;gl;l th;j;jf eilKiwfs; rl;lk; 

2) nghUl;fs; tpw;gid rl;lk; 

3) Efh;Nthh; ghJfhg;G rl;lk; 

4) Nghl;b rl;lk; 

6. Dual Aspect Concept results in the following accounting equation 

1) Revenue = Expenses 

2) Capital + Profits = Assets + Expenses 

3) Capital + Liabilities = Assets  

4) Capital + Drawings = Owner’s Equity 

gpd;tUk; fzf;fpay; rkd;ghL ,U epiyfspy; fUj;J KbTfs; 

1) tUtha; = nryTfs; 

2) %yjdk; + ,yhgq;fs; = nrhj;Jf;fs; + nryTfs; 

3) %yjdk; + fld;fs; =  nrhj;Jf;fs; 

4) %yjdk; + jpUk;g ngWk; gzk; = chpikahshpd; gzgyd;fs; 
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7. Comparison of the financial statements of the current year of a firm with the performance of 
another firm is known as 
1) Trend analysis 
2) Horizontal analysis 
3) Intra-firm comparison  
4) Inter-firm comparison 

xU epWtdj;jpd;  jw;Nghija Mz;L epjpepiy mwpf;iffis kw;nwhU 
epWtdj;jpd; nray;jpwd; cld; xg;gpLtJ 

1) epytuk; gFg;gha;T 
2) fpilkl;l gFg;gha;T 
3) mf epWtdk; xg;gPL 
4) ntsp epWtdk; xg;gPL 

8. Which of the following is not applicable to responsibility accounting? 
1) Accounting centre 2) Cost Centre 
3) Investment centre  4) Profit centre 

gpd;tUk; ikaj;jpd; vJ nghWg;G fzf;fpaypy; nghUe;jhJ? 

1) fzf;fpay; ikak; 2) nryT ikak; 
3) KjyPl;L ikak; 4) yhgfu ikak; 

9. A retiring partner continues to be liable for obligations incurred after his retirement 
1) If unpaid amount is transferred to his loan account 
2) If he does not give public notice 
3) If he starts a similar business elsewhere 
4) In all the situations till he survives 

Xa;;T gq;Fjhuh; Xa;T ngw;w gpwF Vw;gLk; fld;fis njhlh;e;jJ 

1) nrYj;jg;glhj msT gzk; mtuJ fld; fzf;fpy; khw;wg;gLk; vd;why; 
2) mth; nghJ mwptpg;G nfhLf;f Kbatpy;iy vdpy; 
3) mth; NtW xU ,Nj Nghd;w th;j;jf njhlq;Ftjhy; 
4) vy;yhr; #o;epiyfspYk; mth; capUld; ,Uf;Fk; tiu 

10. When opening stock is Rs. 50,000 closing stock is Rs. 60,000 and the cost of goods sold is  
Rs. 2,20,000 the stock turnover ratio is  
1) 2 times  2) 3 times 
3) 4 times   4) 5 times 

jpwe;J NghJ gq;F &. 50>000 MFk; %Lk;NghJ gq;F & 60>000 kw;Wk; 
tpw;gidahd nghUl;fspd; nryT &. 2>20>000 MFk; ifapUg;G tpw;w Kjy; tpfpjk; 

1) 2 Kiw  2) 3 Kiw 
3) 4 Kiw  4) 5 Kiw 
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11. Firms producing and selling a large variety of goods will generally follow 
1) Cost plus pricing 

2) Marginal pricing 

3) Skimming pricing  

4) Product line pricing 

gy;NtW nghUl;fs; ngUksT cw;gj;jp kw;Wk; tpw;Fk; epWtdq;fs; nghJthf 
gpd;gw;w Ntz;bait 

1) nryTk; tpiyAk; 

2) tpspk;G tpiy 

3) ];fpk;kpq; tpiy 

4) jahhpg;G thp tpiy 

12. Which of the following is not a property of indifference curve? 

1) Negative sloping 

2) Convex to the point of origin 

3) Indifference curves necessarily have to be parallel  

4) Two indifference curves do not interest each other 

ve;j gpd;tUk; tisT myl;rpak; tistpd; xU gz;G my;y? 

1) vjph;kiwahf rha;thd 

2) Njhd;wpa ,lj;jpw;Nf Ftpahf ,Uj;jy; 

3) myl;rpak; tisTfs; mtrpak; ,iz ,Uf;f Ntz;Lk; 

4) ,uz;L myl;rpak; tisTfs; xUtUf;nfhUth; NruhjpUj;jy; 

13. Consumer survey method does not include one of the following 

1) Complete enumeration method 

2) Sample survey method 

3) Trend projection method  

4) Consumer’s end use method 

Efh;Nthh; fzf;fpLk; Kiwfspy; ve;j xd;W ,q;Nf Nrh;f;fg;gltpy;iy   

1) KOikahd fzf;nfLg;G Kiw 

2) khjphp fzf;fpLk; Kiw 

3) Nghf;F jpl;l Kiw 

4) Efh;Nthhpd; ,Wjp gad;ghL Kiw 
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14. The assumptions of the law of diminishing marginal utility does not include 
1) Units consumed should be identical 
2) Units consumed should be of standard unit 
3) Units consumed should be successive  
4) Unit price of the commodity 

FW gad;ghL rl;lj;jpd; A+fq;fs; Nrh;f;fg;glhjJ 

1) XNu myFfs; Efug;gly; Ntz;Lk; 
2) ];lhz;lh;l; myFfs; Efug;gLk; Ntz;Lk; 
3) mLj;jLj;j myFfs; Efug;gLk; Ntz;Lk; 
4) nghUspd; A+dpl; tpiy 

15. A rectangular hyperbola shaped demand curve on all its points has 
1) Equal slopes of the price demand curve 
2) Price elasticity equal to unity 
3) Varying price elasticity  
4) Both slope and price elasticity equal 

midj;J Gs;spfs; nrt;tf kpifAiuapd; tbt Njit tistpy; mike;Js;sJ. 

1) rk rhpTfspy; tpiyAk; Njitf;F Vw;wgb tisT 
2) xw;Wik rkkhf tpiy nefpo;r;rp 
3) khWgl;l tpiy ,Oit 
4) rha;T kw;Wk; tpiy ,Oit rk rhpT 

16. For a hypothesis test, alpha (α) is 0.05 and beta (β) is 0.10.  The power of this test is 
1) 0.95   2) 0.90 
3) 0.80   4) 0.15 

xU fUJNfhs; Nrhjid> My;gh (α) is 0.05 kw;Wk;  gPl;lh (β) is 0.10 MFk;. 
,e;j Nrhjid jpwd; 

1) 0.95   2) 0.90 
3) 0.80   4) 0.15 

17. The probability of Type II error is 
1) α   2) β 
3) 1-α    4) 1-β 

epfo;jfT ,uz;lhk; tif gpio cs;sJ 

1) α   2) β 
3) 1-α    4) 1-β 
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18. In a ‘negative’ relationship 
1) as x increases, y increases 

2) as x decrease, y decrease 

3) as x increase, y decrease  

4) both 1) and 2) 

xU vjph;kiw tpisT cwtpy; 

1) x mjpfupf;fpwJ> y FiwfpwJ 

2) x FiwfpwJ NkYk; y FiwfpwJ 

3) x mjpfhpg;gjd; fhuzkhf y FiwfpwJ 

4) 1) kw;Wk; 2) ,uz;Lk; 

19. If bxy is negative, then byx is 

1) Negative 

2) Positive 

3) Zero  

4) Either 1) or 2) 

bxy vjph;kiwahf ,Ue;jhy;> gpd;dh; byx vd;dthf ,Uf;Fk; 

1) vjph;kiw 

2) Neh;kiw 

3) G+[;ak; 

4) 1) my;yJ 2) 

20. Which of the following is the non-random method of selecting samples from a population? 

1) Multistage sampling 

2) Cluster sampling 

3)  Quota sampling 

4) Lottery method 

kf;fs;  njhifapy; fPo;f;fz;l ve;j Nuz;lk; my;yhj Kiwapy;  khjphpfs; 
Njh;e;njLf;fg;gLfpwJ. 

1) gy;epiy khjphp 

2) nfhj;J khjphp 

3) xJf;fPL khjphp 

4) yhl;lhp Kiw 



 

E  M0202 9

21. The classical organization theory treats organization as a/an 
1) Open system 2) Closed system 
3) Technical system  4) Macro system 

fpshrpf;fy; mikg;G Nfhl;ghL xU / epWtdkhf nray;gLfpwJ. 

1) jpwe;j mikg;G 2) %lg;gl;l mikg;G 
3) njhopy; El;g mikg;G 4) Nkf;Nuh mikg;G 

22. The series of Hawthorne experiments based on human relations does not include 
1) Illumination experiments 
2) Relay assembly test room experiments 
3) Bank wiring observation room experiment  
4) Behaviour experiments 

kdpj cwTfs; mbg;gilapy; `hNjhh;d; Nrhjidfs;; Nrh;f;fg;glhJ 

1) ,y;A+kpNd]d; Nrhjidfs; 
2) hpNy mnrk;gpspq;;;; miw Nrhjidfs; 
3) tq;fp tahpq; ftdpg;G miw Nrhjid 
4) goFKiw Nrhjidfs; 

23. Which of the following are different forms of organization structure? 
A) Divisionalised organization structure 

B) Task Force 

C) Staff Organisation 

D) Project organization 
1) A), C) and D) 
2) A) and B) 
3) A), B) and C) 
4) A), B) and D) 

gpd;tUk; fl;likg;Gfs; ve;j mikg;Gfspd; NtWgl;l tbtq;fs;? 

A) gpupTfSlDs;s epWtd mikg;G 

B) lh];f; gil 

C) gzpahsh;fs; mikg;G 

D) jpl;l mikg;G 
1) A), C) and D) 
2) A) and B) 
3) A), B) and C) 
4) A), B) and D) 
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24. Employees learn by observing the performance of the reference group (peer, supervisors and high 
performers) and the consequences of their actions is referred as 
1) Symbolizing 
2) Forethought 
3) Observational  
4) Self-regulatory 

njhopyhsh;fspd; nray;jpwid ftdpj;J mjw;Fupa (rfhf;fs;> Nkw;ghh;itahsh; 
kw;Wk; nraw;jpwd; kpf;fth;fs;) tpisTfs; kw;Wk; nray;ghLfis Fwpg;gpLtJ 

1) milahsg;gLj;JtJ 
2) Kd; rpe;jid 
3) fz;lwpe;jy; 
4) Ra xOq;FKiw 

25. Unsatisfied need becomes a motivating factor and governs the behaviour  of the individual.  This is  
emphasized in the theory developed by 
1) Herzberg’s theory 
2) Maslow theory 
3) Expectancy theory  
4) Alderfer’s ERG theory 

jdpkdpjdpd; jpUg;jpapy;yhj Njit xU Cf;fg;gLj;jy; fhuzpahf mike;J> xU 
eghpd; elj;ijia eph;tfpj;J Nfhl;ghl;by; jpzpf;fg;gLfpwJ. 

1) n`h;];ngh;f;]; Nfhl;ghL 
2) kh];nyht; Nfhl;ghL 
3) vjph;g;GU Nfhl;ghL 
4) My;lh;gh; ERG - d; Nfhl;ghL 

26. When  the consumers  favour  those  products  which  offer the most quality, performance  or 
innovative  features,  then it is  called as 
1) Production  concept 
2) Product  concept 
3) Sales concept 
4) Marketing  concept 

Efh;Nthh;  kpfTk;  juk;, nray;jpwd;  my;yJ  GJikahd  mk;rq;fis 
toq;Ffpd;w  nghUl;fis  Mjhpf;fpd;wdh;. ,e;j  fUj;J ,g;gb  
miof;fg;gLfpwJ 

1) cw;gj;jp fUj;J 
2) jahhpg;G fUj;J 
3) tpw;gid fUj;J 
4) re;ijg;gLj;Jjy; fUj;J 
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27. Which of the  stage  of new  product  development  process  can be  skipped? 
1) Business analysis 

2) Idea screening 

3) Product testing 

4) Test Marketing 

gpd;tUk;  ve;j  epiy Gjpa  jahhpg;G  tsh;r;rp nray;ghl;by;  jtph;f;fyhk;? 

1) tzpfk;  gFg;gha;T 

2) Ibah jpiuaply; 

3) jahhpg;G Nrhjid 

4) nl];l; re;ijg;gLj;Jjy; 

28. The most important retail marketing decision, a retailer has to make, is to 

1) Select the product assortment 

2) Identify its target market 

3) Choose the desired service level 

4) Develop an effective store atmosphere 

xU tpw;gidahsh; vLf;fg;gl Ntz;ba  kpf Kf;fpakhd  rpy;yiw 
re;ijg;gLj;jyhdJ 

1) jahhpg;G tifg;gLjiy  Njh;e;njLf;fTk; 

2) ,yf;if milahsg;gLj;jYk; 

3) Njitahd Nrit epiyia Njh;T nra;jy;  

4) rpwe;j Kiwapy; thzpg fplq;fpid #o;epiyf;Nfw;g Njh;e;njLj;jy; 

29. Items considered part of the augmented product, do not include 

1) Guarantee 

2) Warranty 

3) Complementary products  

4) Channels of distribution 

fPNo nfhLf;fg;gl;Ls;s jahhpg;G nghUs;fspy; vJ Nrh;f;fg;gltpy;iy 

1) cj;jputhjk; 

2) fhytiu cj;jputhjk; 

3) <Lnra;Ak; nghUl;fs; 

4) tpepNahfj;jpd; topKiwfs; 
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30. Which one of the following is not considered as a pattern of marketing segmentation? 
1) Homogenous preferences 

2) Diffused Preferences 

3) Clustered Preferences 

4) Branded Preferences 

gpd;tUk;  gphptpy;  vJ re;ijg;gLj;Jjypd;  gphptpd;  xU khjphpahf 

fUjg;gLtjpy;iy 

1) xNu rPuhd tpUg;gq;fs; 

2) guTfpd;w tpUg;gq;fs; 

3) nfhj;jhd tpUg;gq;fs; 

4) gpuhz;ll; tpUg;gq;fs; 

31. A Company has issued 10 percent  perpetual debt of Rs. 1,00,000 at 5 percent premium.  If  tax rate 

is  30 percent , then  the  cost  of debt will be 

1) 10%   2) 2.15% 

3) 6.66%   4) 8.21% 

xU epWtdk; 10 rjtPjk; epue;ju fld; vd> 5 rjtPj fl;lzj;jpy; &. 1>00>000 

ntspaplg;gl;Ls;sJ. thp tpfpjk; 30 rjtPjk; vd;why;> mg;Nghija fld; nryT 

vt;tsT? 

1) 10%   2) 2.15% 

3) 6.66%   4) 8.21% 

32. Financial Leverage is measured by 

1) Earnings before interest and Tax / Earning after Tax 

2) Earnings before interest and Tax / Earning before Tax 

3) Earning after interest and Tax / Earning before Tax 

4) Contribution / Earnings before interest and Tax 

epjp rYif ,jd; %yk;  mstplg;gLfpwJ 

1) tUtha;f;F Kd; tl;b kw;Wk; thp /  thpf;Fg; gpwF tUkhdk; 

2) tl;b kw;Wk;  thpf;F Kd;  tUtha; /   thpf;F Kd; tUtha; 

3) tl;b kw;Wk; thpf;Fg; gpwF tUtha; /  thpf;F Kd; tUtha; 

4) gq;fspg;G /   tUtha;f;F Kd; tl;b kw;Wk; thp  
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33. Determination of Net Present value is done by 
1) Present value of cash inflow – present value of cash outflow 
2) Present value of the asset – cost price of the asset 
3) Future value of cash inflow – present value of cash outflow 
4) Future value of cash inflow – Future value of cash outflow 

epfu jw;Nghija  kjpg;ig fz;lwpa  ,e;j Kiw  gad;gLj;jg;gL;k; 

1) gz KjyPL jw;Nghija kjpg;G – gzntspNaw;wk; jw;Nghija kjpg;G 

2) nrhj;jpd; jw;Nghija kjpg;G – nrhj;J tpw;gid  tpiy 

3) gz KjyPL  vjph;fhy kjpg;G – gz  ntspNaw;wk; jw;Nghija kjpg;G 

4) gz KjyPL  vjph;fhy  kjpg;G – gz ntspNaw;wk; vjph;fhy kjpg;G 

34. When the expected level of EBIT exceeds the indifferent point for two alternative financial plans,  
(Equity – financing  and Debt-financing), then 
1) The use of debt financing would be advantageous to increase EPS 
2) The use of equity financing would be advantageous to maximize EPS 
3) The use of debt – financing would reduce EPS 
4) The use of equity financing would keep the EPS constant 

EBIT vjph;ghh;f;fg;gl;l epiy ,uz;L khw;W epjp jpl;lq;fspy;> (<f;tpl;b- epjp kw;Wk;  
fld;  epjpahf;fKk;) khWgl;;l Gs;sp flf;Fk;  NghJ> 

1) ,gpv]; mjpfhpf;f fld;  epjpiag;  gad;gLj;Jjy; rhjfkhdjhf  ,Uf;Fk; 

2) ,gpv]; mjpfhpf;f rkgq;F epjpaspg;G gad;gLj;Jjy; rhjfkhdjhf ,Uf;Fk; 

3) ,gpv]; Fiwf;f fld; epjp  gad;gLk; 

4) ,gpv]; epiyahdjhf itj;jpUf;;f rkgq;F epjpaspg;G gad;gLk; 

35. Combined leverage is calculated as 
1) Operating leverage – Financial leverage 
2) Operating leverage + Financial leverage 

3) Operating leverage  Financial leverage  
4) Operating leverage / Financial leverage 

xUq;fpize;j nry;thf;F ve;j nkhopapy; fzf;fplg;gl;Ls;sJ 

1) ,af;f  nry;thf;F – epjp nry;thf;F 

2) ,af;f  nry;thf;F + epjp nry;thf;F 

3) MgNubq; nry;thf;F  epjp nry;thf;F 

4) ,af;f  nry;thf;F /  epjp nry;thf;F 
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36. External sources of recruitment does not include 
1) Advertisements 

2) Campus Interviews 

3) Unsolicited applicants  

4) Promotion 

Ml;Nrh;g;G ntspg;Gw %yj;jpy;  mlq;fhjJ 

1) tpsk;guq;fs; 

2) tshfk; Neh;fhzy;fs; 

3) ghpe;Jiuay;yhj tpz;zg;gj;jhuh;fs; 

4) Cf;Ftp;g;G 

37. The   kind of  training that  enables an employee to become  well versed in different  kinds of  work 
is known  as 

1) Vestibule training 

2) Skill 

3) Interest  

4) Personal traits 

xU  Copah;  gy;NtW tifahd  tha;e;j  tUkhthh; nray;gl gapw;rp  
mspf;fg;gl;lhy; me;j gapw;rp  ,e;j khjphp miof;fg;gLfpwJ 

1) ntr;bGy; gapw;rp 

2) jpwd; 

3) Mu;tk; 

4) jdpg;gl;;l mk;rq;fs; 

38. Which of the following is not an  appraisal method? 

1) Graphic scale method 

2) Forced choice method 

3) Critical incident method  

4) Assessment centre method 

gpd;tUk;  Kiwfspy;  vJ xU kjpg;gPl;by;  Kiw my;y 

1) fpuh/gpf;  msT Kiw 

2) fl;lha  Njh;T Kiw 

3) ,izf;fg;gl;lit xg;gPL Kiw 

4) ,yf;F Kiw 
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39. In which  method of training , job  conditions are duplicated with  equipments  and machine  which 
are  identical with  those used  at the work place? 
1) On the job training 2) Apprenticeship  training 
3) Vestibule  training 4) Internship  training   

ve;j  gapw;rp  Kiwapy;> Ntiy  epiyikfs; cgfuzq;fs;  kw;Wk; 
,ae;jpuq;fs;  efy;fs; Ntiy ,lj;jpy; gad;gLj;jg;gLk; khjphpahdit? 

1) gzpaplj;jpy;  gzpf;fhd gapw;rp 2) njhopw;gapw;rp gapw;rp 
3) nt];bGy; gapw;rp 4) Ntiytha;g;G gapw;rp 

40. The Factories Act 1948  lays  down the  following safety  provisions 
1) Revolving machinery 2) Power cut 
3) Machines without  gears  4) Open  ground  without  fencing 

njhopw;rhiyfs;  rl;lk; 1948 gpd;tUk;  ghJfhg;G tpjpfs; nrhy;fpwJ 

1) RoYk; ,ae;jpuq;fs; 2) gth;  ntl;L 
3) fpah;fs;  ,y;yhky;  ,ae;jpuq;fs; 4) /ngd;rpq;  ,y;yhj  jpwe;j  jiu 

41. Match the items of List I with List II in terms of  functions of a banks: 
   List I   List II 

  (Activities)  (Functions) 
 a) Understanding   i) Primary Function 
 b) Transfer of funds  ii) Granting Advances 
 c) Overdraft   iii) Utility Functions 
 d) Recurring Deposits  iv) Agency Functions 

 Codes : 

       (a) (b) (c) (d) 
1) i) ii) iv) iii) 
2) iv) iii) ii) i) 
3) iii) iv)        ii) i) 
4) ii) iv) iii) i) 

xU tq;fpapd;  nray;ghLfis mbg;gilahf  ,uz;L gl;bay;fis nghUj;Jf 

gl;bay; - I  gl;bay; II 

(eltbf;iffs;)  (gzpfs;) 

a) vOj;jhf;fj;jpy;  i) Kjd;ik tpoh 

b) epjp cjtp khw;wk;  ii) Kd;$l;bNa  gzk; toq;FtJ 

c) kpifg;gw;W  iii) gad;ghl;L gzpfs; 

d) njhlh;  itg;G iv) Vn[d;rp gzpfs; 

FwpaPLfs;  

       (a) (b) (c) (d) 
1) i) ii) iv) iii) 
2) iv) iii) ii) i) 
3) iii) iv)        ii) i) 
4) ii) iv) iii) i) 
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42. Which  one of the  following  is a recent E-banking  initiative  in Commercial  Banks in India? 
1) RTGS 
2) NEFT 
3) NECS  
4) NET Banking 

gpd;tUk;  tq;fpfspy; ve;j  tq;fp rkPgj;jpy; Kjy; Kiwahf  ,e;jpah th;j;jf 
kpd; tq;fp Kaw;rpapy; <Lg;gl;lJ? 

1) RTGS 
2) NEFT 
3) NECS  
4) NET tq;fpKiw 

43. For the  purpose of extending rural banking and agro  finance, the NABARD 
1) Directly  lends and monitors the rural  borrowers 
2) Refinances the banks  extending rural  finance 
3) Refinances  the rural  borrowers obtaining  credit  from banks  
4) Directly  finances  the rural  borrowers and  gets  refinance from government 

fpuhkg;Gw tq;fp  Ntshz; epjp ePl;bf;Fk;  Nehf;fj;jpw;fhf> eghh;l; 

1) fpuhkg;Gw  fld; ngWgtiuf;  fz;fhzpj;J Neubahf fld;  jUfpwJ 

2) kW epjpAjtpia fpuhkg;Gw tq;fpfSf;F tphpthf;Fjy; 

3) tq;fpfsplk;  ,Ue;J fld;  thq;fp kPz;Lk;  fpuhkg;Gw fld; nfhLf;fpwhh;fs; 

4) Neubahf  fpuhkg;Gw  fld; epjpAjtp kw;Wk; muR kWepjp ngWfpwhh; 

44. E  banking  business is essentially regulated  by the Information Technology  Act 2000  under  
which personal  signature  is replaced by 
1) Encrypted  signature 
2) Image  signature 
3) Digital  signature  
4) Online  signature 

jfty; njhopy;El;g rl;lk; 2000 ,d; gb kpd; tq;fpapy; njhopYf;F mbg;gilapy; 
fPo; jdpg;gl;l ifnahg;gk; ,e;j Kiwapy; khw;wg;gLfpwJ 

1) Fwpahf;fg;gl;l ifnahg;gk; 

2) gl ifnahg;gk; 

3) b[pl;ly; ifnahg;gk; 

4) Md;iyd; ifnahg;gk; 
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45. Which of the following statements is false? 
1) IFC was  established  in July 1956 
2) IFC encourages the growth and development of Public Sector Enterprises in member  

countries 
3) IFC is an  affiliate of the World Bank  
4) IFC encourages the growth of productive private enterprises in  member  countries 

gpd;tUk; mwpf;iffspy; vJ jtwhdJ 

1) IFC [Piy 1956 y; epWtg;gl;lJ 
2) IFC cWg;G ehLfs; kw;Wk; nghJj;Jiw epWtdq;fis tsh;r;rpia 

Cf;Ftpf;Fk; 
3) IFC cyf tq;fpapd; Jiz mikg;G 
4) IFC cWg;gpdh; ehLfspy; jdpahh; cw;gj;jp  epWtdq;fs; tsh;r;rp 

Cf;Ftpf;fpwJ 

46. A situation where any advantage  given by  one member of the  WTO to another  member is  
extended  to all WTO  members  is referred to as 
1) Trade Diversion 
2) Interregional Principle 
3) Most favoured nation  
4) Least traded nation 

cyf tzpf mikg;gpd; xU cWg;gpdh; kw;nwhU cWg;gpdUf;F nfhLj;J cs;s 
Vw;ghL midj;J cWg;gpdh;fshy; gad;gLj;jg;gLfpwJ ,e;j #o;epiyia ,J 
Nghd;w Fwpg;gplg;gLfpwJ 

1) th;j;jf khw;W khh;f;fk; 
2) ,ilapyhd nfhs;if 
3) kpf Ntz;lg;gl;l ehL 
4) Njrpa Fiwe;j th;j;jfk; 

47. Which one of the following was not main contribution of F.W. Taylor? 
1) Scientific Management 
2) Time and Motion Studies 
3) Different Wage plan  
4) Modern management 

fPNo $wpatw;wpy; vit F.W nla;yhpd; gilg;Gfs; my;y? 

1) mwptpay; eph;thfk; 
2) Neuk; mjd; ,af;fg;ghlq;fs; 
3) NtWgl;l rk;gsj; jpl;lk; 
4) etPd eph;thfk; 
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48. Which one of the following not the components of international liquidity in providing facilities in  
international payments? 
1) Foreign currencies held by the Central Bank of the Country 
2) Credit facilities available under “SWAP” 
3) Borrowing facilities available from I.M.F  
4) Gold holdings of Private individuals 

gpd;tUk; Kiwfspy; vJ xd;W rh;tNjr njhifahf trjpfs; toq;Ftjpy; 
rh;tNjr gzg;Gof;fk; $Wfs; my;y 

1) ehl;bd; kj;jpa tq;fp elj;jpa ntspAwT ehzaq;fs; 
2) “SWAP” fPo; toq;fg;gLk; fld; trjpfs; 
3) I.M.F ,Ue;J fpilf;Fk;  fld; trjpfs; 
4) jdpahh; jdpegh;fs; jq;fk; gq;Ffs; 

49. International Finance Corporation was set up in 
1) July  1966 
2) July  1956 
3) July  1965  
4) July  1955 

rh;tNjr epjpf; $l;L];jhgdk; ve;j Mz;by; Vw;gLj;jg;gl;lJ 

1) [Piy 1966 
2) [Piy 1956 
3) [Piy  1965 
4) [Piy 1955 

50. Special economic   Zone  framed to promote  exports was announced  by our Government    of 
India  on 31st  March 2000 in the 
1) Industrial  Development  Policy 
2) Export  and Import  Policy 
3) Foreign  Development  Policy  
4) Economic  Development  Policy 

gpd;tUk; ve;j nfhs;ifapy; Vw;Wkjpia Cf;Ftpf;f rpwg;G nghUshjhu kz;lyk;  
31 khh;r; 2000 md;W ,e;jpa murhy; mwptpf;fg;gl;lJ 

1) njhopy; tsh;r;rpf; nfhs;if 
2) Vw;Wkjp kw;Wk; ,wf;Fkjp nfhs;if 
3) ntspehl;L tsh;r;rp nfhs;if 
4) nghUshjhu mgptpUj;jp nfhs;if 

————————
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ROUGH WORK 
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ROUGH WORK 
 


